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L 0.0
B XL RIEHIE H=5m B-pEL 0.0 HIETEEmNSDRS
L 0.0
m2 m2 & &t 155.8 49.9 49.9 56.0
HEEEE 155.8 49.9 499 56.0
m2 m2 & it 408.0 125.1 1385 146.4
AsTHERE 408.0 125.1 136.5 146.4
BERL m3 m3 & &t 559.5 1433 203.1 213.1
BRLUIERIB T8 559.5 143.3 203.1 213.1
AR-ERECLYL 0.0
BT = x 0.0
SMER BREMHEE). MERSHY & S & &t 16 0 0 16
800 IRAILNURT 0 BlfE-2(1)
FiET 16 16 |Bl#K-2(1).4
SAEVMEAMAT 0 Bl fE-2(2)
BT = X 0
BT (. MREETR) S S & &t 8 4 4 0
¢ 1500 YIR—RY—Fal—avT 8 4 4 Bl HE-3(1)
fEHI L0 m3 m3 & &t 702.0 352.8 349.2 0.0
L¥EL L. BRUBDEL 702.0 352.8 349.2
BH-ER.80E 0.0
BE. hEE 0.0
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LAJL2(T5E) RCIERIT (P4"P6)

L~ JL3GER) LA L4 LA LSGRH) *ﬁf’ g@ B B K % ait P4END | PSIEM) | PoiEM Wg@ﬁfi i
HERIEEA T b 0.0
HHEM [FBaRiE. 3E] m2 m2 & &t 155.8 49.9 49.9 56.0
¢ = 200 mm 155.8 499 499 56.0
0.0
HLars)—r @V —MRE. BE] m2 m2 & &t 155.8 49.9 49.9 56.0
=100 mm, o ck=18 N/mm? 155.8 499 499 56.0 1-9
0.0
avyy—k @29 —MRE] m3 m3 & &t 545.4 172.0 171.6 201.8
15, & ck=30 N/mm? E iR 0 ck=30 N/mm” 1147 1147
1R, 0 ck=24 N/mm? [EhR 0 ck=24N/mm’ 203.8 101.9 101.9
53 2247 69.3 68.9 86.5
FEREIEEE 0.0
BE 2.2 0.8 0.8 0.6
[av o) —h R m3 m3 & &t 0.0 0.0 0.0 0.0
EEBIHET, 0 ck=24 N/mm’ EAEDILEE 0.0
E73) [ E A RHR4E - 2] t kg & &t 72,112 20,632 22,883 28,597
SD345 D10 0
1R D13 28 8 8 12
D16~D25 32,625 9,879 10,005 12,741
D29~D32 17,283 1,107 5,660 10,516
D35 16,848 9,638 7,210
D38 5,328 5,328
(SRAA#THHIRHE - 2] t kg & &t 0 0 0 0
SD345 D10 0
LTEIMET D13 0
D16~D25 0
D29~D32 0
AT & &t 0 0 0 0
R F D38+D38 0
D41+D41 0
D51+D51 0
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LAJL2(T5E) RCIERIT (P4"P6)

WRBER

LA L3GFERD LA LAGRRD LRLS(FRE) Bf ¥ 8 B % ait PAYEH) | PS1EM) | PGAEHD S48 & z
B m2 & &t 517.4 170.6 169.5 171.3
& iR —RR IR 1715 56.1 56.1 59.3
# — AR 3213 105.8 105.3 110.2
ARARE R 18.9 6.7 6.1 6.1
ERBRHILEE —RRE 0.0
BE — AR 5.7 2.0 20 1.7
ESTHT m2 m2 & it 0.0 0.0 0.0 0.0
ERBRHILEE —RRE 0.0
X Zm3 | ZEm3 & it 3 1 1 1
CUREXHRI  h=30m w=40kN/m2 0 h B KRERES . w3 R 5
; ]
RBi5 #m2 | $tm2 & &t 478 158 158 162
FRAETEAMEREHS30m 478 158 158 162 HEHERES
30m<H 0
avyy—hEE m2 m2 & &t 0.0 0.0 0.0 0.0
TRIET 0.0
TEIET 0.0
XARFER — MR m2 m2 & &t 1.1 0.4 0.4 0.3
1.1 04 04 03
0.0
SR m m & &t 40.1 14.7 14.7 10.7
¢ 150 0.0
¢ 250 40.1 14.7 147 10.7
¢ 300 0.0
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1-9 Hlaro)—t HER

avo—h R B | 511.9 [m2%Y
15 8 #H % B 2 K 2 B # = i =
2 1K Tm24Y)
avyl)—k [a> ") —FE] m3 51.1 0.1
B m2 271 0.05
HLavoy—=k ByLavy)—rER
m3 m2 m2
At 83 834 39
P4 83 834 3-9
p2 56 56 52
P3 5 499 3
P4 5 49.9 3
P5 5 49.9 3
P6 5.6 56 3.2
A2 8-3 83-4 39
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£ #Mm oo T # g mi1AHY i
T |7 5| g | M8 SHER | IHER | M | | BEE| XL | AL [ HiF|( | 2 [#HBHRLHZED| #
wE|wE|ge|wE|wne|ve|wE|nela2|wE| e |82 R | #EsE| BB A |3 ke | ke | FHE N & | Y |BEIUO| | K
N | B & |U—MU—NIVD| R Bt | wR| B | £ | & |BE|IBR| &
K| R & BE|IBE|N—|HHM # | 2 | B &
mm m kgl mm m kgl mm m kgl mm m kg m kgl m3|N/mm2 kg & kg kg kg kg m m kg
AR ®860 12 611398 927514840 9 1011766 43-51-79981—F2+ 5+56+—06-+ 24—+ 8 4.9
= $-860 +H4H—6-51 1762 9 3615280 9 tOT-1766 46578802721 5156707 24T 111 19 719
P15t 800 tAT—6:01 1626 9129015104 911001 t760 450184901721 5T—51t31—0-7 SOt 6 49
P45t 860 HAT—6-01-1626 91—29-:01 5104 H—16:611766 450184901721 S—46+—0-7 30—+ 6 4-9 1
P6FERI ¢ 800 13| 7.5] 1890 9| 28.5| 5016 9( 10.0] 1760 46.0| 8666 72.1 5| 401] 0.7 30| 111 6 49

) HMEROBSEADLETIRELTEHT S,
2R, & LIZERT B,
IRERHEM DBERIE. MARICHR/ NV FEBETIHEICEET S,
ARBAFHEM T, BH T RUVRM/SA—NEFENS,
S54HHMICIE, +F. Z+F. HTDOIEEEELEAT D,
6. HEEELAN D EE A = (L EE ARG - R AIICEET T 5,
1B IERE. MO EICHEEHZERET S5 EICERT 5,
8ALIEDYL T DAERIF. ALIEHYUYT LA—EOEBAEEY T 5,
9. FDMFBRIZIX. Fryvx I T —h, BEEHIEREDHBREZEH TS,
1058 RIZDONTIE., BIEE BRI EIZEHT 5,
11BEIZLIC DOV TIXRIRER T S,
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(EFTITH
n 1 N = Y
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T iE| %@ B | F|#M K| SD295A SD345 avy | avy [EBIUEILAILY hiEs | HESE | T |MEELE B O #w

D=13 | D=16 | D=13 [16=D|29=D| D=35 | D=38 | D=41 | D=51 5 J—k | Y=k g | B | B/ | B/ |Iugay| B8 ¥:N

=25| =32 i %] HAE (HuER|EMEe 49—k B
mm m kg kg kg kg kg kg kg kg kg kg m3| N/mm? m3 m3 FS
P35 15001475 615835 3905 9740 839 2% 7T
P4YER ¢ 1500| 475 0| 5008 3905 8913 83.9 24 4
P51 ¢ 1500| 46.5 0| 5877 4025 9902 82.2 24 4

) I MOBERACH L TR EMHOBEHETS,

2 A EE SR D BX 2 (LKA RRAE - B RIICEF T 5,
BHBRICOVTIE. BEE B LICEFT 5,

A4RBIFER LIS OVWTIEE IR 2ELTICKVAEER T 5,
5 KICOVNTIERRERT S,
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EFEHINGE
MR BE B MR T 8 X 5 & &
@5 | Fmm)] R&m)psmen] &% | TEEN] 1 2 3 4 5 6 7 8 9 10 | 11 [ 12 | 13| 14 [ 15 | 16 | 17 | 18 [ 19 | 20 | 21 [ 22 | 23 | 24 | 25 | &t |[mEFHNE
AL [ [#s0o——435] | 25| 4B |MMEL|BEL|WEL|MEL(REL|EL(DEL L (DEL L (DB KL (DB ML (BEL 9
NiE of 1 T—st——4—=al 19 5 12 5 12 6 17 8 46
JBEL(m) 250 | 150| 670 | 390 | 1.00| 180| 230| 440| 170| 090 530 700 UBUTHOO+—+30+— | | 46.20
NXL 000 [ 150| 8040 [ 11.70 | 4.00 | 540 | 27.60 [ 22.00 | 20.40 | 4.50 | 63.60 | 42.00 | 15.30 | 40.00 | 59.80 | 0.00 | 0.00| 000 | 000| 000 | 000][ 000 vOOT—6:66-{— 39820 |
AL [ [esoo———4e5— [ 25| B |kt Mttt WL BRI [MEtEE WL Mt (MR |kt |BE L (BEE 11
NflE 0 o T Te——st——2l 5| 12 6 24 46
JBEL(m) 110 | 360| 125| 995| 160| 110| 290 | 580 | 1220 | 830 | 1.05 I R s e S 48.85
NXL 000 | 000| 1.25[11940| 480 1320 | 1450 | 69.60 | 73.20 [199.20 [ 48.30 | 000 | 000 | 0.00| 000| 000| 000| 000| 000| 000[ 0.00[ 000 [ VU OHO——54345 |
P15 [ Tosoo————50l | 25| B Mt (WML (BB |BEL ML [BEL L |BE L ML (RE L | B ML BB R | BB M (BB K BB (M (BB L ML ML (RE L | B E T 10
NflE o o Tr—e2st——3f——al 3] 4 3 12 12 5 12 5 12 5 12 6 12 6 17 8 4 24 46
EBEL(m) | 055| 330 100| 400| 515 050| 050| 100| 075 325| 300[ 150 ZABT 0751330l 070| 180 200| 035 395| 070| 250| 150 | 220| 1.17| 46.70
NXL 000 [ 000 | 12.00 [112.00 | 1545 [ 200| 150 | 400| 2.25| 39.00| 36.00 | 7.50 | 29.40 | 3.75 | 39.60 | 3.50 | 21.60 | 12.00 | 4.20 | 23.70 | 11.90 [ 20.00 | 6061 52:86-1-407-35]460.15 |
P24GH [ [esoo———sof— [ 16| B |kt [MtE R Mt (RRE |t | BRI [MEtEE MR MEtE S (MR Mt E MEtEL (ML |(BEL 9
Nfl 0 o Tz —s—t2——5} 12| 6] 12 6 17 8 4 24 46
JBEL(m) 090 | 380 | 6.10| 735| 205| 250 11.00| 305 135| 1.70| 3.00| 250 | 140 O8O —+689+—f | 48.59
NXL 000 | 000 | 73.20 | 22.05 | 24.60 | 12.50 [132.00 | 18.30 | 16.20 | 10.20 | 51.00 | 2000 | 560 [ 19.20 | 50.14 | 000 | 000 | 000| 000| 000 [ 0.00[ 000 [ VO 6-06~———145499]
P61E R ¢ 800 46.0 16 15 ML (ML (BB BB LT | BEL L | e (L (REL (L | BEL | BEL 1
NflE 0 0 1 12 3 12 5 12 6 12 6 24 46
JBEL(m) 136 | 343| 1.15| 945| 200| 140| 355| 530| 875| 040| 290| 820| 097 48.86
NXL 000 [ 000| 1.15[11340| 6.00 | 16.80 | 17.75 | 63.60 | 5250 | 4.80 | 17.40 | 196.80 | 4462 | 000 | 000| 000 | 000| 000 | 000| 000 | 000| 000| 000]| 0.00 534.82

EREFHEDHTAL. HENTREDELZLIBMDBEITITHEVREET S,
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T ITHEEFHFE

I 2 Al A Al O B = s &
BEET
BAELTT
AfpeE+ Bt m3 10193.2
T EER m3 10193.2
REET
BREXIET
MYEEREE  |pELFLEH 2 1
RBFEEEE
RBFEERES =x 1
LR & i
Bt B4 } -
T HGREE 3T
2> | ¢ 19mmL=1. Om m 19.5
& 640  L=1. Om m 19.5
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